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NP1~ 34k

pan=2 3,300 3,300
NP1 EE a7 6,600/ 1,320M 7,920M
INF 2 EE a7 6,600/ 1,320M 7,920M
INF 3 EE a7 11,000MH 1,320M 3,300 15,6204

B (AR 17,600 18,700H 11,000H 47,300H
INF A FAE Bk (2%} 12,100MH 11,000H 11,000H 34,100M

BT Rk 1,100 14,300H 15,4004

#EFrh - Bk 24,200M 19,800H 11,000H 55,000
N B A

BT Rk 1,100 14,300H 15,4004

#E9 26,400M 11,000H 37,400M
INF G EHE Bk 26,400M 11,000H 37,400M

BT Xk 1,100 16,2804 17,380

S - Rk 24,200 660H 2,860H 27,720H
el F4

THE 19,8004 2,860M 22,660M

5 - Rk 24,200 660H 2,860H 27,720H
CEVEES

THE 19,8004 2,860M 22,660M

S 24,200 660 2,860M 27,720M
3 FELE

373 24,200 660H 2,860H 27,720H
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N6 AEMED— R 4,400M/[E] (125,500 % 7=1£3,300//9-128)

FIAFME (HE) 21— 6,600M/[E] (F##11,000M/9-28)
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